Multiplication et Division par 10 (F)

Trouvez chaque produit ou quotient.

1,9357 - 10 = 6+10=
3,23 x 10 = 2,246 ~ 10 =
1,1 x10 = 2,747 +~ 10 =
3,8+10= 6,382 X 10 =
6,076 ~ 10 = 4,6 X 10 =
6,5 X 10 = 8,563 + 10 =
9,52 x 10 = 9,71 x 10 =
3,194 - 10 = 9,1 X 10 =
8,96 X 10 = 502 x10 =
1,151 x 10 = 59 %10 =
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Multiplication et Division par 10 (F) Solutions

Trouvez chaque produit ou quotient.

1,9357 +- 10 =0,19357 6+10=0,6

3,23 x10=32,3 2,246 +~ 10 = 10,2246
1,1 x10=11 2,747 - 10 =0,2747
3,8+10=0,38 6,382 X 10 = 63,82
6,076 -~ 10 = 0,6076 4,6 X 10 =46

6,5 X 10 = 65 8,563 +~ 10 =0,8563
9,52 x 10 =95,2 9,71 x10=97,1
3,194 +-10=0,3194 9,1 x10=091

8,96 x 10 = 89,6 5,02 x 10 =50,2
1,151 x 10 =11,51 59x10=59
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